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8 5 A%E (opm) 0.08 0.07 0.05 0.04 0.88 0.05
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LTER TNTIY | Roty | vEY -
FERULDFER EBEIFIE R6.8.23 PRER A = 0.010 <0.001 | <0.001 <0.001 <0.001 | <0.001 ppm
ME LA /NER 10E% B = R6.8.23 R A K 0.030 <0.001 | <0.001 <0.001 <0.001 | <0.001 ppm
SRR SBEH =2 24 R6.8.23 HhEr A =% 0.020 0.001 <0.001 <0.001 <0.001 | <0.001 ppm
RN 2P =14 14H R6.8.7 PR A K 0.016 0.002 0.001 <0.001 <0.001 | <0.001 ppm
EE/INERR 3 =24 24 R6.8.20 PRER A = 0.005 <0.001 | <0.001 <0.001 <0.001 | <0.001 ppm
ABHNERR 2P =24 141 R6.8.20 R A K 0.004 <0.001 | <0.001 <0.001 <0.001 | <0.001 ppm
EEINEZ] 2MEH =1 148 R6.8.7 WA =% 0.009 [ <0.001 [ <0.001 <0.001 <0.001 | <0.001 ppm
FEINER 2P = 1 24 R6.8.7 R A K 0.014 <0.001 | <0.001 <0.001 <0.001 | <0.001 ppm
EHEENER 2EH =1 148 R6.8.7 WA =% 0.012 [ <0.001 [ <0.001 <0.001 <0.001 | <0.001 ppm
=M DFNER 3P =34 24 R6.8.20 R A K <0.004 | <0.001 | <0.001 <0.001 <0.001_| <0.001 ppm
—+mEFNER 2[EH = 1248 R6.8.23 WA =% 0.010 [ <0.001 [ <0.001 <0.001 <0.001 | <0.001 ppm
FEEFEE — /NP 2P =14 14H R6.8.7 R A K 0.013 0.001 <0.001 <0.001 <0.001_| <0.001 ppm
£ SEH =3 E 24 R6.8.9 R =% 0.031 0.003 0.002 <0.001 <0.001 | <0.001 ppm
RS = R7.3.26 JRERA R 4.1 <8.0 <8.0 <8.0 <8.0 <8.0 ug/m
1EREE R7.3.26 ik =% 2.4 24.0 10.0 <8.0 16.0 <8.0 tg/m
L EHME R7.3.26 R A X 4.1 11.0 <8.0 <8.0 <8.0 <8.0 Ug/m
3ME L HAIE (MRE) R7.3.26 PRER A =X 27 15.0 <8.0 <8.0 <8.0 <8.0 ug/m
BETLAN—L BRIZIESH) | R1.3.27 LB A <2.0 <8.0 8.7 <8.0 21.0 <8.0 (e/m
L EHME R7.3.27 ik =% <20 <8.0 <8.0 <8.0 11.0 <8.0 tg/m
EILGESE (RS = R7.3.25 JRERA R 18.0 9.0 14.0 <8.0 33.0 <8.0 ug/m
ALl R EES R7.3.25 R =% 9.5 18.0 36.0 <8.0 89.0 <8.0 tg/m
WiEPE | % B HZE (ICTXIE) R7.3.25 B AR 18.0 14.0 44.0 <8.0 110.0 <8.0 ug/m
X1GREAZR) 1:BHBE (ppm) 2:¥E8GE(ue/m3)  3:%51E(ue/m3)
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